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First Names Accessories Appetizers
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$62,000

$102,000

$112,000

$170,000

$203,000

buffalo wings

fried mozarella

onion rings

potato skins

soup of the day

belt

earrings

hat

scarf

shoes

Salaries First Names Accessories Appetizers

$62,000

$102,000

$112,000

$170,000

$203,000

1. The person who ordered buffalo wings as an appetizer didn't buy the shoes.

2. The person who ordered soup of the day as an appetizer didn't buy the scarf.

3. The employee with the $102,000 salary didn't order soup of the day.

4. Mekhi earns less than Cory.

5. Abigail earns more than the person who bought the scarf.

6. The employee with the $62,000 salary ordered fried mozarella.

7. The employee with the $203,000 salary bought the belt.

8. The person who ordered buffalo wings as an appetizer didn't buy the scarf.

9. The person who bought the earrings earns less than the person who ordered buffalo wings as an appetizer.

10. The person who ordered soup of the day as an appetizer didn't buy the belt.

11. The 5 people were  the person who ordered potato skins as an appetizer, the person who bought the earrings,
Angelina, the employee with the $62,000 salary,  and the person who ordered buffalo wings as an appetizer.

12. The employee with the $170,000 salary is Melissa.

13. The person who bought the earrings is not Melissa.

14. The person who bought the shoes is Abigail.
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